H o & & &

BF641 0H 4 HICEK LIS 6 LA N RRER) I EZEEH 3 P C L LHIZH T 28280
EHIZHWD B E 7213485 CRREMA RO BIZOWTIHEAN T2 < &%) 12250\ T, B0
fiEDLBYAET D,

Pk, BiAEEBEOREE LTAEZ 2@E2ER L, YFEEMTAFHIO L, &8 1825RFT 5,

ASF64E10H23H

FREE AT KRR THX ENTIE6#E 3 05

R4 XHABITAHEYE

TEMGEHERE K IEE

ZiEE ERT KRR 1% 2 35
KA A A IS B R L
KA sRatbigaill KB E

BRI B

-1 - sz T E R



HOOflf =%

THX Sy - THE - RSB - HBl MoK PO B B G AT & | T (G E LM
29 ) =M
= 1 181, 436
THRET
= 1 181, 436
TR I RUE L
= 1 151, 829
BRI T
(5% %)
= 1 91, 530
BRI T SM400A
(£ SM400A)
t 0.05 189, 500 9,475
BRI T $5400
(8IFSS400)
t 0. 002 188, 200 376
BRI T $5400
(17 4MSS400)
t 0. 07 123, 400 8, 638
BRI T $5400
(5530 1L TEA#SS400)
t 0.05 122, 400 6,120
BRI T $5400
(HJE4fSS400)
t 0.08 121, 300 9, 704
BRI T $5400
(OF-$SS400)
t 0. 06 136, 300 8,178
BRI T $5400
(H&4ISS400)
t 0. 02 142, 700 2, 854
BRI T $5400
(RagMMSS400)
t 0. 06 149, 500 8,970
BRI T STK400
(1% 35 88 A& STK400)
t 0. 003 214, 800 644
K vheFyb SS400 M16 X 50 (B1, UN1, W2)
il 8 112 896

-1- E LRz E )R




N 2

(I

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
KWty b SS400 M16 X 45 (B1, UN1, W2)
HH 8 110 880
KWty b SS400 M16 X 40 (B1, UN1, W2)
HH 8 108 864
KWty b SS400 M12 X 35 (B1, UN1, W2)
HH 4 49 196
KWty b SS400 M10 X 35 (B1, UN1, W2)
HH 8 37 296
KWty b SS400 M10 X 30 (B1, UN1, W1, TW1)
HH 34 51 1,734
Uk b SS400  32CH! (4N (M10))
HH 2 87 174
Uk b SS400  15CH! (4N (M10))
HH 4 75 300
Tk T
= 1 29, 607
Ao HDZT77
t 0.3 76, 500 22, 950
Ao HDZT63
t 0.09 67, 300 6, 057
Ao HDZT49
t 0. 009 66, 700 600
495 B
= 1 34, 706
T T
= 1 216, 142
THE s
= 1 50, 016

[ rxmd )R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
(CE35 RAEIUI)
= 1 266, 158
29 ) =M
= 1 1, 348, 672, 055
T S g 1
= 1 22,430
ik 1.
= 1 22, 430
PC FEFIMTIG 1
= 1 1, 224, 560, 525
PCHT Fefatrid/E L
= 1 804, 973, 075
@m 10440m2
= 1 188, 158, 000
Y] SD345 D13
t 107. 62 254, 200 27, 357, 004
ERAR SD345 D16~25
t 411.71 274, 900 113,179, 079
ERAR SD345  D29~32
t 28. 58 251, 700 7,193, 586
A SD490 D25
t 6. 66 266, 900 1,777, 554
AA=70= 73y)  M12X60
T 2,184 1,703 3,719, 352
WV 55
m3 2, 309 36, 500 84, 278, 500
WV 87
m3 708 33, 700 23, 859, 600

-3- [ rxmd )R




N 2

it

£

THX Sy - THE - RSB - HBl MoK PO B B G AT & i E (A5
PCh=7" W (NF=7" ) fERE  3200kNFY (12515. 2B)
t 78.7 1, 698, 000 133, 632, 600
PCh=7" W (B4r=7" ) HEkE  4950kN (19S15. 2)
t 53. 4 1, 664, 000 88, 857, 600
PCh=7" v (it D =77 ) REfE 950kNY (1S28. 6)
t 28.8 1, 367, 000 39, 369, 600
PCH=7" N (7 T o)
T 144 67, 670 9, 744, 480
PCERAR (WF-77 1) HEkE (Wig1) 3200kNY (12S15. 2B)
T 236 86, 270 20, 359, 720
PCERAR (WVr-77 1) ke (Wigl) 4950kNT (19S15. 2)
T 56 260, 400 14, 582, 400
PCERAR (BAF D77 0) R (51 950kN% (1528. 6)
T 813 36, 480 29, 658, 240
PCh=7" WE & (BEAE D F-77 W) REfE 950kNY (1S28. 6)
T 813 21,120 17, 170, 560
INr=7" VT AL E A5 2 (O4- | 4950kNE (19S15. 2)
77 W)
&0 16 129, 700 2,075, 200
KT
= 1 99, 040, 000
NSV e RIKJ) 2300kN
P5IGHI
& 2 29, 370, 000 58, 740, 000
NSV R J) 2212kN
AIER
& 2 20, 150, 000 40, 300, 000
BEER T (T FF4EE%)
= 1 320, 547, 450
HiZRa% 3%
= 1 261, 234, 000

[ rxmd )R




N 2

it

£

THEX Sy« TH - FERI - HH50 H PO B B G AT & # T (G E LM
AR 2780%%m3
= 1 48, 875, 700
FETEES 2 330m2
= 1 7, 483, 700
A 2 42m
= 1 229, 370
i T8 672m
= 1 1, 937, 560
[t 1249m2
= 1 787,120
WA B 1L
= 1 53, 554, 140
HekZEE T
= 1 15, 041, 078
okt FC250
&0 26 84, 730 2,202, 980
HEAKE VP-200
m 413 26, 860 11, 093, 180
HEAKE VP-50
m 4 5, 023 20, 092
A== SUS  M12X50
VN 874 309 270, 066
IRRRAK RN 47"
&0 27 53, 880 1, 454, 760
T
= 1 30, 443, 364
WV 25
m3 245 25, 520 6, 252, 400
-5 - EhAREE R ERTE




YN/

it

£

THX Sy - THE - RSB - HBl MoK PO B B G AT G| T (G E LM
T P 1630m2
= 1 12,781, 140
A SD345 D13
t 32.38 152, 200 4,928, 236
ERAR SD345 D16~25
t 1.04 150, 200 156, 208
H Hi TR HHEET B M t=10mm
m2 1 3,410 3,410
P A
—
&0 120 15, 450 1, 854, 000
%A
BE AR 2 ) - bR R
&0 8 15, 660 125, 280
BE =y ) — | LR P 48m2
= 1 4, 342, 690
i T
= 1 87, 560
REER S 2
&0 1 87, 560 87, 560
5 2 I 5 At L
= 1 2, 195, 020
BTG IR (7Vh-5 V)
&0 34 13, 830 470, 220
JEFBET /A1 Vb
&0 88 19, 600 1, 724, 800
WA T
= 1 1, 714, 804
TR
m 3 15, 300 45, 900

TR PE R R




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
A7y
ZN 12 5, 067 60, 804
WAL (D)
e 2 364, 700 729, 400
L35 (B)
e 3 292, 900 878, 700
SO L
= 1 49, 980
A (R EEAR) ) RS 4 4 300 X200 13
e 1 49, 980 49, 980
HIPERG 1L T
= 1 3,274, 234
HIPER 1L
m2 391 8,374 3,274, 234
KR T
= 1 748, 100
KR (A)
m2 760 165 125, 400
F R (B) CC-A
m2 100 6,227 622, 700
/)) - ME RIS E T
= 1 68, 988, 960
R Es T
= 1 9, 288, 360
H K AR T
= 1 59, 700, 600
e
= 1 1, 546, 000
-7 - EhAREE R ERTE




N 2

it

£

THEX Sy« TH - FERI - HH50 H PO B B G AT & # T (G E LM
= 1 1, 546, 000
g
= 1 117, 685, 725
RCAG ) T
= 1 113, 696, 266
R R AR T
PoIG I
= 1 37, 438, 357
WV 675
m3 175 38, 140 6, 674, 500
ERAR SD345 D16~25
t 33.28 233, 500 7,770, 880
Y] SD345 D51
t 1.28 269, 800 345, 344
Y] SD490 D51
t 34.73 372, 100 12,923, 033
@m 210m2
= 1 3,012, 000
AL G R FR AR 3m2
= 1 471, 100
&5 14304m2
= 1 3, 106, 100
AR 320%2m3
= 1 3, 135, 400
R R AR T
PTHG
= 1 41, 682, 736
WV 5
m3 145 31, 020 4, 497, 900
-8 - EhAREE R ERTE




it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
ERAR SD345 D16~25
t 33.29 250, 500 8, 339, 145
A SD345 D51
t 1.33 269, 800 358, 834
A SD490 D51
t 41. 69 375, 300 15, 646, 257
gy 160m2
= 1 2, 305, 200
AL EE R AR 3m2
= 1 471, 100
&5 13304m2
= 1 7,222,900
i{;‘ﬁ 290%5m3
= 1 2, 841, 400
R R AR T
P8I I
= 1 34, 575, 173
WV 5
m3 145 31, 020 4, 497, 900
ERAR SD345 D16~25
t 31.35 257, 000 8, 056, 950
A SD345 D51
t 1.28 276, 400 353, 792
A SD490 D51
t 28.71 386, 100 11, 084, 931
)jgm 160m2
= 1 2, 358, 100
AL EE R AR 3m2
= 1 472, 000

[ rxmd )R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
&5 95042
= 1 5, 730, 800
AR 190Z=m3
= 1 2, 020, 700
R EY 1L
= 1 1,432,701
HE T
= 1 432, 611
WV 25
m3 2 27, 620 55, 240
)jgm 17m2
= 1 133, 300
Y] SD345 D13
t 0.15 152, 170 22, 825
ERAR SD345 D16~25
t 0. 07 150, 240 10,516
&5 504Hm2
= 1 210, 730
KR T
= 1 1, 000, 090
F R (C) CC-B
m2 157 6,370 1, 000, 090
WEmRE T
= 1 1,671, 628
1A -« RS 1
= 1 601, 718
SCFEHLE 4R H-300 L=5. Om
VN 4 4,954 19, 816

- 10 - E haziwy  hE TR




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
SCFEHLE 4R H-300 L=5. 5m
ZN 8 4,954 39, 632
SCFEHLS 4R H-300 L=6. Om
ZN 4 4,954 19, 816
el &N
t 9. 19, 090 181, 355
AT 356 &N
t 23. 7,801 180, 203
BIRERE - Wk (OG- Ak | ik
]
m2 128 497 63,616
A5 7% v A A N Zi R SN
m 64 1,520 97, 280
TEHRALER T
= 1 1, 069, 910
Bl 38 4 gk 1A -+ SRR 75. 96t
= 1 1,069, 910
e
= 1 885, 130
B R B T
= 1 266, 190
RImE T
= 1 618, 940
B L
= 1 1, 466, 357, 780
BTl TE:
= 1 117,579, 000
BTl TE:
= 1 14, 375, 500

- 11 -

[ rxmd )R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TR
= 1 9, 952, 600
R AR R 4 AR 2 1El
= 1 583, 600
T RR A oy FRAR ST A B 2l
= 1 4, 214, 000
T RR A oy FRAR ST A R Lzl
= 1 3, 829, 000
T RR A oy FRAR ST A R Lzl
= 1 1, 326, 000
et
= 1 818, 800
T HEA R &
= 1 818, 800
Htre m
= 1 54, 100
B M R FEART IR
= 1 54, 100
BUGERRYGEE (K5 1)
= 1 3, 550, 000
HimE R (FE L)
= 1 103, 203, 500
Wi
= 1 1, 583, 936, 780
BTk X=giiv oy
= 1 337, 027, 000
(€:rk2Ya)
= 1 1, 920, 963, 780

- 12 - EhAREE R ERTE




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM

R 5]

= 1 1,921, 229, 938
— e

= 1 203, 060, 062
Tk

= 1 2, 124, 290, 000
THE B 2 %8

= 1 212, 429, 000
TG

= 1 2,336, 719, 000

- 13 - EhAREE R ERTE




